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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Examine the nature and importance of public finance in

an underdeveloped economy.

v¼Zfodflr vFkZO;oLFkk esa jktLo ds egRo ,oa Lo:i ij

izdk'k Mkfy,A

2. Discuss the importance of Peacock-Wiseman hypothesis

in the explanation of growth of public expenditure.

lkoZtfud O;; dh o`f¼ dh O;k[;k esa ihdkWd&okbteSu dh

ifjdYiuk ds egRo ij izdk'k Mkfy,A
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3. What is functional finance ? How it is useful in the

modern economic development ?

dk;kZRed foÙk D;k gS \ vk/kqfud vk£Fkd fodkl esa ;g fdl

izdkj mi;ksxh gS \

4. What do you understand by Shifting of Taxes ? Discuss

the various theories regarding the Shifting of Taxes.

dj foorZu ls D;k vk'k; gS \ dj foorZu ds fofHkék fl¼kUrksa

dh O;k[;k dhft,A

5. Write a short note on ‘Public Enterprise’ or ’Control of

Public Utilities by Government’.

^ljdkjh m|e* ;k jkT; }kjk yksdksi;ksxh lsokvksa dk fu;a=.k ij

,d laf{kIr fuca/k fyf[k,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. Explain the nature and scope of revenue on the basis of

any three points.

fdUgha rhu fcUnqvksa ds vk/kkj ij jktLo dh izÏfr vkSj {ks= dks

le>kb,A

2. Explain the characteristics of social goods.

lkekftd oLrqvksa dh fo'ks"krk,¡ le>kb,A

3. Briefly explain what effect public expenditure has on

distribution.

la{ksi esa le>kb, fd lkoZtfud O;; dk forj.k ij D;k izHkko

iM+rk gS \

4. Explain Wagner’s Law.

oSxuj dk fu;e le>kb,A

5. Which three things did Wagner give importance to in

his budget ?

oSxuj us vius ctV esa fdu rhu ckrksa dks egRo fn;k gS \
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6. Briefly explain the principles of taxation given by Adam

Smith.

,Me fLeFk }kjk fn, x, djkjksi.k ds fl¼kUrksa dks la{ksi esa

le>kb,A

7. What is the production principle of taxation ?

djkjksi.k dk mRikndrk dk fl¼kUr D;k gS \

8. What is the importance of government enterprises in the

economic field ?

vk£Fkd {ks= esa ljdkjh m|eksa dk D;k egRo gS \

**************


